
44

BUCHA S8X40

0411-0005-99

PARAFUSO AA M5X16

0610-0088-99

REV. H

2020 

Autor: AFM

CHECKLIST MISCELÂNEA SWA 2100

8

PARAFUSO M8X25

0675-2611-99

12

ARRUELA LISA M8,4X16

0400-2065-99

8

ARRUELA PRESSÃO 

M8X15

0604-0022-99

ABRAÇADEIRA NYLON

5878-0010-99

2

FIXADOR AUTO

ADESIVO

5878-0902-99

2

PARAFUSO ALLEN ABAU. 

M5X 16

0686-2098-99

12 4

PORCA AÇO 

SEXTAVADA ZINCADA 

M8X6,5

0409-2012-99

PARAFUSO M8X20 OXI.

0686-2152-99

4

ARRUELA LISA ZINC. PRETO

8,4X17X1,1

0400-2176-99

4 4

ARRUELA LISA 

ZINCADO PRETO 4,3 

X 12 X 1

0400-2177-99

4

PARAFUSO ALLEN ABAU. 

M4X12

0686-2095-99

3

CHUMBADOR M12X 5/8X70

0411-0021-99

1

CHAPA LINGUETA 

REBITADA

7120-3123-99

2

FIAÇÃO DE ATERRAMENTO 

F162 (210MM) 

7076-5162-98T

Cor: Laranja

DATA:____/____/_____ RESPONSÁVEL:______________ REVISOR:___________   OP Nº_______________


